
DESCRIPTIONDATE

BY

MADE

No.

R
E

V
I
S

I
O

N
S

APPROVED  BY:

CHECKED BY:

DRAWN BY:

TITLE

REVISION
DRAWING  NUMBER

SCALE

DESIGN OPS CONSTRUCTION

STATUS

Electric Utility Specialists

Design / Design  Build / ConsultingP.ENG. STAMP

#108 - 2280, Leckie Rd,
Kelowna, BC V1X 6G6

Phone: (250) 763-0401
primaryeng.com

JESSE SPRING

LINDSAY LESCHIUTTA

1:1000

BENTLEY ROAD

HR-2203-F1

0.G

H
R-

2
2

0
3

FOR TENDER

RED = PROPOSED

BLUE = SALVAGE / REMOVED / MISSING

BLACK = EXISTING

GREEN = NOTES

COLOR SCHEME:

POLE

DUCT STUB

GUY ANCHOR

ADJUST STRUCTURES AS REQUIRED FOR 266 ACSR PRIMARY AND 1/0

ACSR NEUTRAL UNLESS OTHERWISE NOTED

FORTISBC STYLE STRUCTURES AND PART NUMBERS INDICATED ON

DRAWING UNLESS OTHERWISE NOTED

DESIGN ASSUMPTIONS - UNLESS OTHERWISE NOTED

SITE CONDITIONS MEET CSA MEDIUM B

MINIMUM GRADE 2 CONSTRUCTION

SOIL STRENGTH ASSUMED TO BE CLASS 5

CABLE AND CONDUCTOR LENGTHS ARE APPROXIMATE DIRECT

DISTANCES BETWEEN EQUIPMENT AND DO NOT INCLUDE LOOPS,

TERMINATIONS, RISER HEIGHTS OR WASTE

PADMOUNT TRANSFORMER

INSCRIBED NUMBER DENOTES

PHASES

STREET LIGHT

SSS

SERVICE BOX

JUNCTION BOX - INSCRIBED

NUMBER DENOTES

PHASES

RISER

PUSH BRACE

OVERHEAD TRANSFORMER

INSCRIBED NUMBER DENOTES

PHASES

PRIMARY O/H CONDUCTOR

+(3) 5320114 266.8 ACSR PRIMARY

+(1) 1/0 ACSR NEUTRAL

PRIMARY 3 ɸ UG CABLE

DUCT ONLY

SECONDARY UG CABLE

PRIMARY 1 ɸ UG CABLE

SECONDARY OH CONDUCTOR

+(3) 5320204 #2 ACSR PRIMARY

+(1) 5320204 #2 ACSR NEUTRAL

-(3) PRIMARY

-(1) NEUTRAL

-(3) PRIMARY

-(1) NEUTRAL

AutoCAD SHX Text
JONES FLAT RD

AutoCAD SHX Text
COV PL 88723

AutoCAD SHX Text
COV PL 88725

AutoCAD SHX Text
12' EASE

AutoCAD SHX Text
EASE PL 81147

AutoCAD SHX Text
BENTLEY RD

AutoCAD SHX Text
SAWYER RD

AutoCAD SHX Text
COV PL 88725

AutoCAD SHX Text
COV PL 88725

AutoCAD SHX Text
MATCHLINE B (SEE HR-2203-F2)

AutoCAD SHX Text
8-22 EXISTING (1)	3PH TANGENT & NEUTRAL TANGENT 3PH TANGENT & NEUTRAL TANGENT (1)	XX' CLASS Y POLE XX' CLASS Y POLE SALVAGE -	(1) 3PH TAP (1) 3PH TAP -	(1) NEUTRAL TAP (1) NEUTRAL TAP INSTALL - 3PH 266 TAP AND 1/0 NEUTRAL TAP +	(1) 2414-5 3PH PRIMARY TAP 266 ACSR (1) 2414-5 3PH PRIMARY TAP 266 ACSR +	(1) 2660-4 NEUTRAL CLEVIS (DE)(1) 2660-4 NEUTRAL CLEVIS (DE)

AutoCAD SHX Text
8-25 EXISTING (1)	XX' CLASS Y POLE XX' CLASS Y POLE (1)	3PH TANGENT 3PH TANGENT (1)	TRANSFORMER AND CUTOUT TRANSFORMER AND CUTOUT (1)	STREET LIGHT STREET LIGHT (1)	NEUTRAL TANGENT NEUTRAL TANGENT (1)	SECONDARY OVERHEAD SERVICE SECONDARY OVERHEAD SERVICE SALVAGE -	(1) 3PH TANGENT (1) 3PH TANGENT INSTALL - CHANGE CROSSARM & RE-USE EXISTING POLE TOP PIN +	(1) 2700-2 3PH TANGENT 266 ACSR(1) 2700-2 3PH TANGENT 266 ACSR

AutoCAD SHX Text
8-26  EXISTING (1)	XX' CLASS Y POLE XX' CLASS Y POLE (1)	3PH TANGENT 3PH TANGENT (1)	NEUTRAL TANGENT NEUTRAL TANGENT (1)	OVERHEAD SPAN GUY OVERHEAD SPAN GUY SALVAGE -	(1) 3PH ANGLE (1) 3PH ANGLE INSTALL MED ANGLE AND 1PH TRANSFORMER +	(1) 2707-2 3PH MED ANGLE 266 ACSR (1) 2707-2 3PH MED ANGLE 266 ACSR +	(1) 2523-3 1PH TRANSFORMER FRAMING (1) 2523-3 1PH TRANSFORMER FRAMING +	(1) OVERHEAD TRANSFORMER 50kVA (1) OVERHEAD TRANSFORMER 50kVA 4800-120/240V (DISTRICT OF SUMMERLAND STANDARD) +	(1) 2660-4 SECONDARY CLEVIS (DE) (1) 2660-4 SECONDARY CLEVIS (DE) +	(1) 2592-3 POLE GROUND (1) 2592-3 POLE GROUND FUSING BY DISTRICT OF SUMMERLAND

AutoCAD SHX Text
CIVIL EXTEND DB2 DUCT FROM EXISTING POLE TO NEW 8-29 POLE  REFER TO DETAIL 1

AutoCAD SHX Text
1

AutoCAD SHX Text
8-25

AutoCAD SHX Text
8-23

AutoCAD SHX Text
8-22

AutoCAD SHX Text
8-26

AutoCAD SHX Text
8-29

AutoCAD SHX Text
3/0 ACSR

AutoCAD SHX Text
8-23 EXISTING 40' CLASS 2 POLE SALVAGE -	(1) 3PH DDE (1) 3PH DDE -	(1) 1PH FUSED CUTOUTS (1) 1PH FUSED CUTOUTS -	(1) NEUTRAL DDE (1) NEUTRAL DDE -	(1) POLE GROUND (1) POLE GROUND -	(1) PRIMARY GUY AND ANCHOR (1) PRIMARY GUY AND ANCHOR INSTALL - 3PH 266 DDE W/ SECTIONALIZING SWITCH STRUCTURE +	(1) 2778-2 3PH PRIMARY DDE 266 ACSR (1) 2778-2 3PH PRIMARY DDE 266 ACSR +	(1) 2424-3 3PH SECTIONALIZING SWITCH STRUCTURE 266 ACSR (1) 2424-3 3PH SECTIONALIZING SWITCH STRUCTURE 266 ACSR +	(2) 2660-4 NEUTRAL CLEVIS (DE) (2) 2660-4 NEUTRAL CLEVIS (DE) +	(1) 2592-3 POLE GROUND (1) 2592-3 POLE GROUND +	(1) 2854-3 PRIMARY AND NEUTRAL DOUBLE DOWN HAUL GUY AND (1) 2854-3 PRIMARY AND NEUTRAL DOUBLE DOWN HAUL GUY AND ANCHOR (5m SOUTH) FUSING BY DISTRICT OF SUMMERLAND

AutoCAD SHX Text
A

AutoCAD SHX Text
34m

AutoCAD SHX Text
A

AutoCAD SHX Text
74m

AutoCAD SHX Text
A

AutoCAD SHX Text
25m SS 

AutoCAD SHX Text
A

AutoCAD SHX Text
76m

AutoCAD SHX Text
8-29 SALVAGE -	(1) 40' CLASS 3 POLE C/W (1) 40' CLASS 3 POLE C/W --	(1) 3PH DE (1) 3PH DE --	(1) DIP STRUCTURE WITH SWITCHES (1) DIP STRUCTURE WITH SWITCHES --	(1) NEUTRAL DE (1) NEUTRAL DE --	(1) POLE GROUND (1) POLE GROUND -	(1) PRIMARY GUY AND ANCHOR (1) PRIMARY GUY AND ANCHOR INSTALL NEW 40'/2 POLE 8m SOUTH OF EXISTING POLE - BUILD FOR 3PH DEAD END & 3PH DIP   +	(1) 5010402 40' CLASS 2 POLE  (1) 5010402 40' CLASS 2 POLE  +	(1) 2709-2 3PH DE 266 ACSR (1) 2709-2 3PH DE 266 ACSR +	(1) 1324-5(MOD) 15KV 350AL MCM RISER WITH 200A LOADBREAK CUTOUTS (1) 1324-5(MOD) 15KV 350AL MCM RISER WITH 200A LOADBREAK CUTOUTS +	(1) ES53 M1-01 BC HYDRO STYLE LARGE CABLE GUARD FOR PRIMARY DUCT (1) ES53 M1-01 BC HYDRO STYLE LARGE CABLE GUARD FOR PRIMARY DUCT ADJUST TO ACCOMODATE 4X75mm DUCTS +	(1) 2660-4 NEUTRAL CLEVIS (DE) (1) 2660-4 NEUTRAL CLEVIS (DE) +	(1) 2660-4 SECONDARY CLEVIS (DE) (1) 2660-4 SECONDARY CLEVIS (DE) +	(2) EXTEND O/H TRIPLEX SERVICE FROM POLE 8-26 TO 8-29 (2) EXTEND O/H TRIPLEX SERVICE FROM POLE 8-26 TO 8-29 +	(1) 2592-3 POLE GROUND (1) 2592-3 POLE GROUND +	(1) 2854-3 PRIMARY AND NEUTRAL DOUBLE DOWN HAUL GUY AND ANCHOR (8m (1) 2854-3 PRIMARY AND NEUTRAL DOUBLE DOWN HAUL GUY AND ANCHOR (8m NORTH) COORDINATE WITH COMMUNICATIONS COMPANIES TO RELOCATE THEIR CABLES FUSING BY DISTRICT OF SUMMERLAND

AutoCAD SHX Text
1

AutoCAD SHX Text
20

AutoCAD SHX Text
( 1:1000 IN METRES )

AutoCAD SHX Text
80

AutoCAD SHX Text
40

AutoCAD SHX Text
20

AutoCAD SHX Text
0

AutoCAD SHX Text
40

AutoCAD SHX Text
DO NOT USE FOR CONSTRUCTION

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
LEGEND

AutoCAD SHX Text
GENERAL NOTES

AutoCAD SHX Text
N

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
J.SPRING

AutoCAD SHX Text
27MAY16

AutoCAD SHX Text
UPDATED STRUCTURES

AutoCAD SHX Text
0.D

AutoCAD SHX Text
J.SPRING

AutoCAD SHX Text
2JUNE16

AutoCAD SHX Text
ADDED SWITCHES

AutoCAD SHX Text
0.E

AutoCAD SHX Text
J.SPRING

AutoCAD SHX Text
10JUNE16

AutoCAD SHX Text
ISSUED FOR TENDER

AutoCAD SHX Text
0.F

AutoCAD SHX Text
J.SPRING

AutoCAD SHX Text
7JULY16

AutoCAD SHX Text
REVISED EXTENTS

AutoCAD SHX Text
0.G



S

S

S

S

3

DESCRIPTIONDATE

BY

MADE

No.

R
E

V
I
S

I
O

N
S

APPROVED  BY:

CHECKED BY:

DRAWN BY:

TITLE

REVISION
DRAWING  NUMBER

SCALE

DESIGN OPS CONSTRUCTION

STATUS

Electric Utility Specialists

Design / Design  Build / ConsultingP.ENG. STAMP

#108 - 2280, Leckie Rd,
Kelowna, BC V1X 6G6

Phone: (250) 763-0401
primaryeng.com

JESSE SPRING

LINDSAY LESCHIUTTA

1:1000

BENTLEY ROAD

HR-2203-F2

0.G

H
R-

2
2

0
3

FOR TENDER

RED = PROPOSED

BLUE = SALVAGE / REMOVED / MISSING

BLACK = EXISTING

GREEN = NOTES

COLOR SCHEME:

ADJUST STRUCTURES AS REQUIRED FOR 266 ACSR PRIMARY AND 1/0

ACSR NEUTRAL UNLESS OTHERWISE NOTED

FORTISBC STYLE STRUCTURES AND PART NUMBERS INDICATED ON

DRAWING UNLESS OTHERWISE NOTED

DESIGN ASSUMPTIONS - UNLESS OTHERWISE NOTED

SITE CONDITIONS MEET CSA MEDIUM B

MINIMUM GRADE 2 CONSTRUCTION

SOIL STRENGTH ASSUMED TO BE CLASS 5

CABLE AND CONDUCTOR LENGTHS ARE APPROXIMATE DIRECT

DISTANCES BETWEEN EQUIPMENT AND DO NOT INCLUDE LOOPS,

TERMINATIONS, RISER HEIGHTS OR WASTE

POLE

DUCT STUB

GUY ANCHOR

PADMOUNT TRANSFORMER

INSCRIBED NUMBER DENOTES

PHASES

STREET LIGHT

SSS

SERVICE BOX

JUNCTION BOX - INSCRIBED

NUMBER DENOTES

PHASES

RISER

PUSH BRACE

OVERHEAD TRANSFORMER

INSCRIBED NUMBER DENOTES

PHASES

PRIMARY O/H CONDUCTOR

+(3) 5320114 266.8 ACSR PRIMARY

+(1) 1/0 ACSR NEUTRAL

PRIMARY 3 ɸ UG CABLE

DUCT ONLY

SECONDARY UG CABLE

PRIMARY 1 ɸ UG CABLE

SECONDARY OH CONDUCTOR

+(3) 5320204 #2 ACSR PRIMARY

+(1) 5320204 #2 ACSR NEUTRAL

FINISHED GRADE

MARKING TAPE

PRIMARY DUCT (SEE NOTE 5)

STREET LIGHTING

SECONDARY DUCT

300

1
2

2
0

TELUS

OFFSET (SEE NOTE 3)

P
R

O
P

E
R

T
Y

 
L

I
N

E

75

TYPICAL TRENCH DETAIL

N.T.S.

1800

C/L

300

350

75

300

300

SHAW

150

270

CLEAN COMPACTED FILL

(NO MATERIAL >150 mm)

5 (

3

16

) SCREENED SAND

-(3) PRIMARY

-(1) NEUTRAL

-(3) PRIMARY

-(1) NEUTRAL

AutoCAD SHX Text
COV PL 88725

AutoCAD SHX Text
SB

AutoCAD SHX Text
5265

AutoCAD SHX Text
SB

AutoCAD SHX Text
SANBORN ST

AutoCAD SHX Text
COV PL 88725

AutoCAD SHX Text
COV PL 88725

AutoCAD SHX Text
R/W PL 88724

AutoCAD SHX Text
COV PL 89582

AutoCAD SHX Text
R/W

AutoCAD SHX Text
PL B3577

AutoCAD SHX Text
PL A3053

AutoCAD SHX Text
COV PL 88725

AutoCAD SHX Text
COV PL 88725

AutoCAD SHX Text
COV PL 88725

AutoCAD SHX Text
COV PL 88725

AutoCAD SHX Text
R/W PL 88722

AutoCAD SHX Text
SAWYER RD

AutoCAD SHX Text
MATCHLINE B (SEE HR-2203-F2)

AutoCAD SHX Text
J.B.02

AutoCAD SHX Text
J.B.01

AutoCAD SHX Text
MATCHLINE B (SEE HR-2203-F1)

AutoCAD SHX Text
J.B.02 SALVAGE -	(3) 4 POINT 200A JUNCTION BARS (3) 4 POINT 200A JUNCTION BARS -	(6) 200A ELBOWS (6) 200A ELBOWS INSTALL +	(3) 5740411 PATTON & COOKE JUNCTION (3) 5740411 PATTON & COOKE JUNCTION RACKS (2X200A & 2X600A) +	(6) 5740330 200A BUSHING INSERTS (6) 5740330 200A BUSHING INSERTS +	(6) 1500-4 T-BODY, 350MCM AL (6) 1500-4 T-BODY, 350MCM AL +	(6) 4835013 INSULATING CAPS(6) 4835013 INSULATING CAPS

AutoCAD SHX Text
CIVIL EXTEND DB2 DUCT FROM EXISTING POLE TO NEW 8-31 POLE REFER TO DETAIL 1

AutoCAD SHX Text
BENTLEY RD

AutoCAD SHX Text
S.B.4

AutoCAD SHX Text
S.B.3

AutoCAD SHX Text
TR. 5266

AutoCAD SHX Text
S.B.2

AutoCAD SHX Text
S.B.1

AutoCAD SHX Text
MATCHLINE A (SEE HR-2203-F3)

AutoCAD SHX Text
EXISTING TELUS POLE INSTALL SKYPIN  +	(1) 2100-3 SKYPIN WITH INSULATOR (1) 2100-3 SKYPIN WITH INSULATOR +	(1) TRIPLEX TIE WIRE(1) TRIPLEX TIE WIRE

AutoCAD SHX Text
8-31 EXISTING (1)	STREET LIGHT TRANSFER TO NEW POLE STREET LIGHT TRANSFER TO NEW POLE TRANSFER TO NEW POLE SALVAGE -	(1) 40' CLASS 3 POLE C/W (1) 40' CLASS 3 POLE C/W --	(1) 3PH DE (1) 3PH DE --	(1) DIP STRUCTURE WITH SWITCHES (1) DIP STRUCTURE WITH SWITCHES --	(2) NEUTRAL DE (2) NEUTRAL DE --	(1) POLE GROUND (1) POLE GROUND -	(1) PRIMARY GUY AND ANCHOR (1) PRIMARY GUY AND ANCHOR INSTALL NEW 40'/2 POLE 8M NORTH OF EXISTING POLE - BUILD FOR 3PH DEAD END & 3PH DIP   +	(1) 5010402 40' CLASS 2 POLE (1) 5010402 40' CLASS 2 POLE +	(1) 2709-2 3PH DE 266 ACSR (1) 2709-2 3PH DE 266 ACSR +	(1) 1324-5(MOD) 15KV 350AL MCM RISER WITH 200A LOADBREAK CUTOUTS (1) 1324-5(MOD) 15KV 350AL MCM RISER WITH 200A LOADBREAK CUTOUTS +	(1) ES53 M1-01 BC HYDRO STYLE LARGE CABLE GUARD FOR PRIMARY DUCT ADJUST TO ACCOMODATE 4X75mm DUCTS (1) ES53 M1-01 BC HYDRO STYLE LARGE CABLE GUARD FOR PRIMARY DUCT ADJUST TO ACCOMODATE 4X75mm DUCTS ADJUST TO ACCOMODATE 4X75mm DUCTS +	(1) ES53 M1-01 BC HYDRO STYLE SMALL CABLE GUARD FOR SECONDARY DUCT (1) ES53 M1-01 BC HYDRO STYLE SMALL CABLE GUARD FOR SECONDARY DUCT +	(1) 2660-4 NEUTRAL CLEVIS (DE) (1) 2660-4 NEUTRAL CLEVIS (DE) +	(1) 2660-4 SECONDARY CLEVIS (DE) (1) 2660-4 SECONDARY CLEVIS (DE) +	(1) TRANSFER O/H TRIPLEX SERVICE (ATTACH TO EXISTING TELUS POLE) (1) TRANSFER O/H TRIPLEX SERVICE (ATTACH TO EXISTING TELUS POLE) +	(1) 2592-3 POLE GROUND (1) 2592-3 POLE GROUND +	(1) 2854-3 PRIMARY AND NEUTRAL DOUBLE DOWN HAUL GUY AND ANCHOR (8m SOUTH) (1) 2854-3 PRIMARY AND NEUTRAL DOUBLE DOWN HAUL GUY AND ANCHOR (8m SOUTH)  (8m SOUTH) (8m SOUTH) FUSING BY DISTRICT OF SUMMERLAND COORDINATE WITH COMMUNICATIONS COMPANIES TO RELOCATE THEIR CABLES

AutoCAD SHX Text
J.B.01 EXISTING (2)	200A ELBOWS TO TRANSFORMERS 200A ELBOWS TO TRANSFORMERS SALVAGE -	(3) 4 POINT 200A JUNCTION BARS (3) 4 POINT 200A JUNCTION BARS -	(6) 200A ELBOWS (6) 200A ELBOWS INSTALL +	(3) 5740411 PATTON & COOKE JUNCTION RACKS (2X200A & 2X600A) (3) 5740411 PATTON & COOKE JUNCTION RACKS (2X200A & 2X600A) +	(6) 5740330 200A BUSHING INSERTS (6) 5740330 200A BUSHING INSERTS +	(6) 1500-4 T-BODY, 350MCM AL (6) 1500-4 T-BODY, 350MCM AL +	(4) 4835013 INSULATING CAPS(4) 4835013 INSULATING CAPS

AutoCAD SHX Text
J.B.01

AutoCAD SHX Text
J.B.02

AutoCAD SHX Text
SEC. S.B.1

AutoCAD SHX Text
TR.5266

AutoCAD SHX Text
SEC. S.B.4

AutoCAD SHX Text
DETAIL 1 CIVIL ROUTING NTS

AutoCAD SHX Text
  EXTEND DB2 DUCT TO NEW POLE  +	(4) 75mm POWER PRIMARY DUCT (DB2) (4) 75mm POWER PRIMARY DUCT (DB2) +	(1) 75mm SHAW DUCT (1) 75mm SHAW DUCT +	(1) ES54 M1-01 BC HYDRO STYLE LARGE  (1) ES54 M1-01 BC HYDRO STYLE LARGE  PILASTER FOR PRIMARY DUCT  MODIFY FOR 4x75mm

AutoCAD SHX Text
NEW 8-29 POLE

AutoCAD SHX Text
EXTEND DB2 DUCT TO NEW POLE  +	(4) 75mm POWER PRIMARY DUCT (DB2) (4) 75mm POWER PRIMARY DUCT (DB2) +	(1) 75mm POWER SECONDARY DUCT (DB2) (1) 75mm POWER SECONDARY DUCT (DB2) +	(1) 75mm SHAW DUCT (1) 75mm SHAW DUCT +	(3) 100mm TELUS DUCT  (3) 100mm TELUS DUCT  +	(1) ES54 M1-01 BC HYDRO STYLE LARGE (1) ES54 M1-01 BC HYDRO STYLE LARGE PILASTER FOR PRIMARY DUCT  MODIFY FOR 4x75mm +	(1) ES54 M1-01 BC HYDRO STYLE SMALL (1) ES54 M1-01 BC HYDRO STYLE SMALL PILASTER FOR SECONDARY DUCT

AutoCAD SHX Text
NEW 8-31 POLE

AutoCAD SHX Text
OLD 8-29 POLE

AutoCAD SHX Text
OLD 8-31 POLE

AutoCAD SHX Text
(4)	75mm POWER PRIMARY DUCT75mm POWER PRIMARY DUCT

AutoCAD SHX Text
(1)	75mm POWER SECONDARY DUCT75mm POWER SECONDARY DUCT

AutoCAD SHX Text
(1)	75mm POWER SECONDARY DUCT75mm POWER SECONDARY DUCT

AutoCAD SHX Text
(4)	75mm POWER PRIMARY DUCT75mm POWER PRIMARY DUCT

AutoCAD SHX Text
SEC. S.B.2

AutoCAD SHX Text
SEC. S.B.3

AutoCAD SHX Text
20

AutoCAD SHX Text
( 1:1000 IN METRES )

AutoCAD SHX Text
80

AutoCAD SHX Text
40

AutoCAD SHX Text
20

AutoCAD SHX Text
0

AutoCAD SHX Text
40

AutoCAD SHX Text
DO NOT USE FOR CONSTRUCTION

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
GENERAL NOTES

AutoCAD SHX Text
N

AutoCAD SHX Text
LEGEND

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
J.SPRING

AutoCAD SHX Text
27MAY16

AutoCAD SHX Text
UPDATED STRUCTURES

AutoCAD SHX Text
0.D

AutoCAD SHX Text
J.SPRING

AutoCAD SHX Text
2JUNE16

AutoCAD SHX Text
ADDED SWITCHES

AutoCAD SHX Text
0.E

AutoCAD SHX Text
J.SPRING

AutoCAD SHX Text
10JUNE16

AutoCAD SHX Text
ISSUED FOR TENDER

AutoCAD SHX Text
0.F

AutoCAD SHX Text
J.SPRING

AutoCAD SHX Text
7JULY16

AutoCAD SHX Text
REVISED EXTENTS

AutoCAD SHX Text
0.G



S

DESCRIPTIONDATE

BY

MADE

No.

R
E

V
I
S

I
O

N
S

APPROVED  BY:

CHECKED BY:

DRAWN BY:

TITLE

REVISION
DRAWING  NUMBER

SCALE

DESIGN OPS CONSTRUCTION

STATUS

Electric Utility Specialists

Design / Design  Build / ConsultingP.ENG. STAMP

#108 - 2280, Leckie Rd,
Kelowna, BC V1X 6G6

Phone: (250) 763-0401
primaryeng.com

JESSE SPRING

LINDSAY LESCHIUTTA

1:1000

BENTLEY ROAD

HR-2203-F3

0.G

H
R-

2
2

0
3

FOR TENDER

RED = PROPOSED

BLUE = SALVAGE / REMOVED / MISSING

BLACK = EXISTING

GREEN = NOTES

COLOR SCHEME:

ADJUST STRUCTURES AS REQUIRED FOR 266 ACSR PRIMARY AND 1/0

ACSR NEUTRAL UNLESS OTHERWISE NOTED

FORTISBC STYLE STRUCTURES AND PART NUMBERS INDICATED ON

DRAWING UNLESS OTHERWISE NOTED

DESIGN ASSUMPTIONS - UNLESS OTHERWISE NOTED

SITE CONDITIONS MEET CSA MEDIUM B

MINIMUM GRADE 2 CONSTRUCTION

SOIL STRENGTH ASSUMED TO BE CLASS 5

CABLE AND CONDUCTOR LENGTHS ARE APPROXIMATE DIRECT

DISTANCES BETWEEN EQUIPMENT AND DO NOT INCLUDE LOOPS,

TERMINATIONS, RISER HEIGHTS OR WASTE

POLE

DUCT STUB

GUY ANCHOR

PADMOUNT TRANSFORMER

INSCRIBED NUMBER DENOTES

PHASES

STREET LIGHT

SSS

SERVICE BOX

JUNCTION BOX - INSCRIBED

NUMBER DENOTES

PHASES

RISER

PUSH BRACE

OVERHEAD TRANSFORMER

INSCRIBED NUMBER DENOTES

PHASES

PRIMARY O/H CONDUCTOR

+(3) 5320114 266.8 ACSR PRIMARY

+(1) 1/0 ACSR NEUTRAL

-(3) PRIMARY

-(1) NEUTRAL

PRIMARY 3 ɸ UG CABLE

DUCT ONLY

SECONDARY UG CABLE

PRIMARY 1 ɸ UG CABLE

SECONDARY OH CONDUCTOR

+(3) 5320204 #2 ACSR PRIMARY

+(1) 5320204 #2 ACSR NEUTRAL

-(3) PRIMARY

-(1) NEUTRAL

AutoCAD SHX Text
R/W A17375

AutoCAD SHX Text
R/W PL A18584

AutoCAD SHX Text
BENTLEY RD

AutoCAD SHX Text
PL 41434

AutoCAD SHX Text
PL 63771

AutoCAD SHX Text
R/W

AutoCAD SHX Text
R/W

AutoCAD SHX Text
50616

AutoCAD SHX Text
PL 41001

AutoCAD SHX Text
EASE

AutoCAD SHX Text
10'

AutoCAD SHX Text
20'EASE

AutoCAD SHX Text
PL 50617

AutoCAD SHX Text
HIGHWAY 97

AutoCAD SHX Text
BENTLEY PL 

AutoCAD SHX Text
RENNIE ST

AutoCAD SHX Text
HIGHWAY 97

AutoCAD SHX Text
102

AutoCAD SHX Text
PL A14641

AutoCAD SHX Text
EASE

AutoCAD SHX Text
A13439

AutoCAD SHX Text
A9450

AutoCAD SHX Text
EASE PL 53925

AutoCAD SHX Text
R/W A13439

AutoCAD SHX Text
PL A9450

AutoCAD SHX Text
EASE

AutoCAD SHX Text
EASE

AutoCAD SHX Text
20'EASE

AutoCAD SHX Text
R/W PL 51692

AutoCAD SHX Text
A17375

AutoCAD SHX Text
PL 67342

AutoCAD SHX Text
8-32

AutoCAD SHX Text
8-39

AutoCAD SHX Text
8-40

AutoCAD SHX Text
5-35

AutoCAD SHX Text
5-34

AutoCAD SHX Text
5-33

AutoCAD SHX Text
5-32

AutoCAD SHX Text
5-26

AutoCAD SHX Text
5-28

AutoCAD SHX Text
5-29

AutoCAD SHX Text
5-30

AutoCAD SHX Text
5-54

AutoCAD SHX Text
5-53

AutoCAD SHX Text
5-27

AutoCAD SHX Text
5-52

AutoCAD SHX Text
5-31

AutoCAD SHX Text
5-23

AutoCAD SHX Text
X-XX

AutoCAD SHX Text
MATCHLINE A (SEE HR-2203-F2)

AutoCAD SHX Text
5-23 EXISTING  (1) OH TRANSFORMER (TRANSFER TO NEW POLE) (TRANSFER TO NEW POLE) SALVAGE -	(1) 40' CLASS 4 POLE (1) 40' CLASS 4 POLE --	(1) 3PH TANGENT (1) 3PH TANGENT --	(1) 1PH TAP (1) 1PH TAP --	(1) NEUTRAL TANGENT (1) NEUTRAL TANGENT --	(1) POLE GROUND (1) POLE GROUND -	(1) 1PH TRANSFORMER BANK W/ CUTOUT (1) 1PH TRANSFORMER BANK W/ CUTOUT INSTALL NEW 45'/2 POLE (1m NORTH OF EXISTING) - BUILD FOR 3PH DDE, 1PH TAP AND 1PH TRANSFORMER +	(1) 5010452 45' CLASS 2 POLE (1) 5010452 45' CLASS 2 POLE +	(1) 2778-2 3PH DDE 266 ACSR (1) 2778-2 3PH DDE 266 ACSR +	(1) 2400-5 1PH TAP #2 ACSR W/ 100A LOADBREAK CUTOUT (REUSE PRIMARY CONDUCTOR) (1) 2400-5 1PH TAP #2 ACSR W/ 100A LOADBREAK CUTOUT (REUSE PRIMARY CONDUCTOR) (REUSE PRIMARY CONDUCTOR) +	(1) 2523-3 1PH TRANSFORMER BANK FRAMING (1) 2523-3 1PH TRANSFORMER BANK FRAMING +	(2) 2660-4 NEUTRAL CLEVIS (DE) (2) 2660-4 NEUTRAL CLEVIS (DE) +	(1) TRANSFER O/H TRIPLEX SERVICE (1) TRANSFER O/H TRIPLEX SERVICE +	(1) 2854-3 PRIMARY AND NEUTRAL DOUBLE DOWN HAUL GUY AND ANCHOR (1) 2854-3 PRIMARY AND NEUTRAL DOUBLE DOWN HAUL GUY AND ANCHOR +	(1) 2592-3 POLE GROUND (1) 2592-3 POLE GROUND FUSING BY DISTRICT OF SUMMERLAND COORDINATE WITH COMMUNICATIONS COMPANIES TO RELOCATE THEIR CABLES

AutoCAD SHX Text
5-26 SALVAGE - (1) 40' CLASS 4 POLE -- 	(1) 3PH TANGENT (1) 3PH TANGENT -- 	(1) 3PH DE (1) 3PH DE -- 	(2) NEUTRAL CLEVIS (2) NEUTRAL CLEVIS -- 	(3) SECONDARY CLEVIS (3) SECONDARY CLEVIS - (1) STREET LIGHT - (1) SECONDARY SIDEWALK ANCHOR (NORTH) INSTALL NEW 45'/2 POLE (KICK AND SET) - BUILD FOR 3PH TANGENT & 3PH TAP   + (1) 5010452 45' CLASS 2 POLE + (1) 2700-2 3PH TANGENT 266 ACSR (TOP) + (1) 2709-2 3PH DE 266 ACSR (BOTTOM) + (1) 5710404 INSULATOR, PIN TYPE + (1) 5110102 PIN, 6" TOP + (1) 2660-4 NEUTRAL CLEVIS (TANGENT) + (1) 2660-4 NEUTRAL CLEVIS (DE) + (1) 2660-4 SECONDARY CLEVIS (DE) + (1) 1440-1 STREET LIGHT ATTACHMENT (REPLACE ARM W/ SHORT SUMMERLAND BRACKET) + (1) 1469-1MOD 150W LUMINAIRE + (1) TRANSFER O/H TRIPLEX SERVICE + (1) 2592-3 POLE GROUND COORDINATE WITH COMMUNICATIONS COMPANIES TO RELOCATE THEIR CABLES

AutoCAD SHX Text
5-27 EXISTING (1)	30' CLASS 3 POLE 30' CLASS 3 POLE (1)	COMMUNICATIONS ANCHOR COMMUNICATIONS ANCHOR SALVAGE -	(1) 2858-3 O/H GUY AND ANCHOR (1) 2858-3 O/H GUY AND ANCHOR INSTALL NEW O/H GUY AND ANCHOR +	(1) 2858-3 O/H GUY AND ANCHOR(1) 2858-3 O/H GUY AND ANCHOR

AutoCAD SHX Text
5-32 SALVAGE -	(1) 40' CLASS 3 POLE (1) 40' CLASS 3 POLE --	(1) 3PH TANGENT (1) 3PH TANGENT --	(1) 1PH TAP (1) 1PH TAP --	(1) NEUTRAL TANGENT (1) NEUTRAL TANGENT --	(3) SECONDARY CLEVIS (SALVAGE OPEN WIRE NORTH AND SOUTH AND TRIPLEX WEST) (3) SECONDARY CLEVIS (SALVAGE OPEN WIRE NORTH AND SOUTH AND TRIPLEX WEST) --	(1) POLE GROUND(1) POLE GROUND

AutoCAD SHX Text
5-34 EXISTING (1)	SL (TRANSFER TO NEW POLE) SL (TRANSFER TO NEW POLE) (TRANSFER TO NEW POLE) SALVAGE -	(1) 40' CLASS 4 POLE (1) 40' CLASS 4 POLE --	(1) 3PH TANGENT (1) 3PH TANGENT --	(1) SECONDARY RACK (1) SECONDARY RACK INSTALL NEW 40'/2 POLE (1m NORTH OF EXISTING) - BUILD FOR 3PH TANGENT +	(1) 5010402 40' CLASS 2 POLE (1) 5010402 40' CLASS 2 POLE +	(1) 2700-2 3PH TANGENT 266 ACSR (1) 2700-2 3PH TANGENT 266 ACSR +	(3) 5561318 266 TIES (3) 5561318 266 TIES +	(1) 2660-4 NEUTRAL CLEVIS (TANGENT)  (1) 2660-4 NEUTRAL CLEVIS (TANGENT)  +	(3) 2660-4 SECONDARY CLEVIS (TANGENT) (3) 2660-4 SECONDARY CLEVIS (TANGENT) +	(1) TRANSFER OPEN WIRE SECONDARY (1) TRANSFER OPEN WIRE SECONDARY +	(1) 2592-3 POLE GROUND(1) 2592-3 POLE GROUND

AutoCAD SHX Text
8-40 EXISTING (3)	OH TRANSFORMERS (TRANSFER TO NEW POLE) OH TRANSFORMERS (TRANSFER TO NEW POLE) (TRANSFER TO NEW POLE) SALVAGE -	(1) 40' CLASS 4 POLE (1) 40' CLASS 4 POLE --	(1) 3PH TANGENT (1) 3PH TANGENT --	(1) NEUTRAL DE (1) NEUTRAL DE --	(1) SECONDARY CLEVIS (1) SECONDARY CLEVIS --	(1) SECONDARY RACK (1) SECONDARY RACK -	(1) 3PH TRANSFORMER BANK W/ CUTOUTS (1) 3PH TRANSFORMER BANK W/ CUTOUTS -	(1) SECONDARY GUY AND ANCHOR (1) SECONDARY GUY AND ANCHOR INSTALL NEW 40'/2 POLE (1m SOUTH OF EXISTING) - BUILD FOR 3PH TANGENT & 3PH TRANSFORMER BANK, TRANSFER TRANSFORMERS   +	(1) 5010402 40' CLASS 2 POLE (1) 5010402 40' CLASS 2 POLE +	(1) 2700-2 3PH TANGENT 266 ACSR (1) 2700-2 3PH TANGENT 266 ACSR +	(1) 2525-3 3PH TRANSFORMER BANK FRAMING (TRANSFER TRANSFORMERS) (1) 2525-3 3PH TRANSFORMER BANK FRAMING (TRANSFER TRANSFORMERS) +	(2) 2660-4 NEUTRAL CLEVIS (DE) (2) 2660-4 NEUTRAL CLEVIS (DE) +	(3) 2660-4 SECONDARY CLEVIS (DE) (3) 2660-4 SECONDARY CLEVIS (DE) +	(1) TRANSFER OPEN WIRE SECONDARY (1) TRANSFER OPEN WIRE SECONDARY +	(1) TRANSFER O/H TRIPLEX SERVICE (1) TRANSFER O/H TRIPLEX SERVICE +	(1) TRANSFER SECONDARY DIP (1) TRANSFER SECONDARY DIP +	(1) ES54 M1-01 BC HYDRO STYLE SMALL PILASTER FOR SECONDARY DUCT (1) ES54 M1-01 BC HYDRO STYLE SMALL PILASTER FOR SECONDARY DUCT +	(1) 2592-3 POLE GROUND (1) 2592-3 POLE GROUND +	(1) 2852-6 SECONDARY GUY AND ANCHOR (Xm SOUTH) (1) 2852-6 SECONDARY GUY AND ANCHOR (Xm SOUTH) FUSING BY DISTRICT OF SUMMERLAND COORDINATE WITH COMMUNICATIONS COMPANIES TO RELOCATE THEIR CABLES

AutoCAD SHX Text
8-32 SALVAGE -	(1) 40' CLASS 3 POLE C/W (1) 40' CLASS 3 POLE C/W --	(1) 3PH TANGENT (1) 3PH TANGENT --	(1) 1PH TAP (1) 1PH TAP --	(1) NEUTRAL TANGENT (1) NEUTRAL TANGENT --	(1) NEUTRAL DE (1) NEUTRAL DE --	(1) POLE GROUND (1) POLE GROUND -	(1) PUSHBRACE (W/ 35' CLASS 4 POLE) (1) PUSHBRACE (W/ 35' CLASS 4 POLE) INSTALL NEW 40'/2 POLE - BUILD FOR 3PH TANGENT & 1PH TAP   +	(1) 5010402 40' CLASS 2 POLE (1) 5010402 40' CLASS 2 POLE +	(1) 5010352 35' CLASS 2 POLE (1) 5010352 35' CLASS 2 POLE +	(1) 2700-2 3PH TANGENT 266 ACSR (1) 2700-2 3PH TANGENT 266 ACSR +	(1) 2400-5 1PH TAP #2 ACSR W/ 100A LOADBREAK CUTOUT (1) 2400-5 1PH TAP #2 ACSR W/ 100A LOADBREAK CUTOUT +	(1) 2660-4 NEUTRAL CLEVIS (TANGENT) (1) 2660-4 NEUTRAL CLEVIS (TANGENT) +	(1) 2660-4 NEUTRAL CLEVIS (DE) (1) 2660-4 NEUTRAL CLEVIS (DE) +	(1) 2592-3 POLE GROUND (1) 2592-3 POLE GROUND +	(1) 2820-1 PUSH BRACE (Xm EAST) (1) 2820-1 PUSH BRACE (Xm EAST) FUSING BY DISTRICT OF SUMMERLAND COORDINATE WITH COMMUNICATIONS COMPANIES TO RELOCATE THEIR CABLES BRUSHING REQUIRED

AutoCAD SHX Text
5-33 EXISTING (1)	OH TRANSFORMER (TRANSFER TO NEW POLE) OH TRANSFORMER (TRANSFER TO NEW POLE) (TRANSFER TO NEW POLE) SALVAGE -	(1) 40' CLASS 4 POLE (1) 40' CLASS 4 POLE --	(1) 3PH TANGENT (1) 3PH TANGENT --	(1) SECONDARY RACK (1) SECONDARY RACK -	(1) 1PH TRANSFORMER BANK W/ CUTOUTS (1) 1PH TRANSFORMER BANK W/ CUTOUTS -	(1) SECONDARY GUY AND ANCHOR (1) SECONDARY GUY AND ANCHOR INSTALL NEW 40'/2 POLE (SOUTH OF EXISTING TO PROPERTY LINE) - BUILD FOR 3PH TANGENT & 2 TRANSFORMERS, TRANSFER TRANSFORMERS   +	(1) 5010402 40' CLASS 2 POLE (1) 5010402 40' CLASS 2 POLE +	(1) 2700-2 3PH TANGENT 266 ACSR (1) 2700-2 3PH TANGENT 266 ACSR +	(1) 2523-3 1PH TRANSFORMER BANK FRAMING (TRANSFER TRANSFORMER) (1) 2523-3 1PH TRANSFORMER BANK FRAMING (TRANSFER TRANSFORMER) +	(2) 2660-4 NEUTRAL CLEVIS (DE) (2) 2660-4 NEUTRAL CLEVIS (DE) +	(3) 2660-4 SECONDARY CLEVIS (DE) (3) 2660-4 SECONDARY CLEVIS (DE) +	(1) TRANSFER OPEN WIRE SECONDARY (SOUTH) (1) TRANSFER OPEN WIRE SECONDARY (SOUTH) +	(2) TRANSFER O/H TRIPLEX SERVICE (2) TRANSFER O/H TRIPLEX SERVICE +	(1) 2592-3 POLE GROUND (1) 2592-3 POLE GROUND +	(1) 2852-6 SECONDARY GUY AND ANCHOR (Xm NORTH) (1) 2852-6 SECONDARY GUY AND ANCHOR (Xm NORTH) FUSING BY DISTRICT OF SUMMERLAND COORDINATE WITH COMMUNICATIONS COMPANIES TO RELOCATE THEIR CABLES

AutoCAD SHX Text
5-35 EXISTING (3)	OH TRANSFORMERS (TRANSFER TO NEW POLE) OH TRANSFORMERS (TRANSFER TO NEW POLE) (TRANSFER TO NEW POLE) SALVAGE -	(1) 40' CLASS 4 POLE (1) 40' CLASS 4 POLE --	(1) 3PH TANGENT (1) 3PH TANGENT --	(1) SECONDARY RACK (1) SECONDARY RACK -	(1) 3PH TRANSFORMER BANK W/ CUTOUTS (1) 3PH TRANSFORMER BANK W/ CUTOUTS INSTALL NEW 40'/2 POLE (1m NORTH OF EXISTING) - BUILD FOR 3PH TANGENT & 3PH TRANSFORMER BANK, TRANSFER TRANSFORMERS   +	(1) 5010402 40' CLASS 2 POLE (1) 5010402 40' CLASS 2 POLE +	(1) 2700-2 3PH TANGENT 266 ACSR (1) 2700-2 3PH TANGENT 266 ACSR +	(1) 2525-3 3PH TRANSFORMER BANK FRAMING (TRANSFER TRANSFORMERS) (1) 2525-3 3PH TRANSFORMER BANK FRAMING (TRANSFER TRANSFORMERS) +	(1) 2660-4 NEUTRAL CLEVIS (TANGENT) (1) 2660-4 NEUTRAL CLEVIS (TANGENT) +	(3) 2660-4 SECONDARY CLEVIS (TANGENT) (3) 2660-4 SECONDARY CLEVIS (TANGENT) +	(1) TRANSFER OPEN WIRE SECONDARY (1) TRANSFER OPEN WIRE SECONDARY +	(1) TRANSFER O/H TRIPLEX SERVICE (1) TRANSFER O/H TRIPLEX SERVICE +	(1) TRANSFER SECONDARY DIP (1) TRANSFER SECONDARY DIP +	(1) ES54 M1-01 BC HYDRO STYLE SMALL PILASTER FOR SECONDARY DUCT (1) ES54 M1-01 BC HYDRO STYLE SMALL PILASTER FOR SECONDARY DUCT +	(1) 2592-3 POLE GROUND (1) 2592-3 POLE GROUND FUSING BY DISTRICT OF SUMMERLAND COORDINATE WITH COMMUNICATIONS COMPANIES TO RELOCATE THEIR CABLES

AutoCAD SHX Text
8-39 SALVAGE -	(1) 40' CLASS 4 POLE (1) 40' CLASS 4 POLE --	(1) 3PH TANGENT (1) 3PH TANGENT --	(1) NEUTRAL TANGENT (1) NEUTRAL TANGENT INSTALL NEW 40'/2 POLE - BUILD FOR 3PH TANGENT  +	(1) 5010402 40' CLASS 2 POLE (1) 5010402 40' CLASS 2 POLE +	(1) 2700-2 3PH TANGENT 266 ACSR (1) 2700-2 3PH TANGENT 266 ACSR +	(1) 2660-4 NEUTRAL CLEVIS (TANGENT) (1) 2660-4 NEUTRAL CLEVIS (TANGENT) BRUSHING MAY BE REQUIRED

AutoCAD SHX Text
A

AutoCAD SHX Text
60m

AutoCAD SHX Text
A

AutoCAD SHX Text
21m

AutoCAD SHX Text
A

AutoCAD SHX Text
15m

AutoCAD SHX Text
A

AutoCAD SHX Text
32m

AutoCAD SHX Text
A

AutoCAD SHX Text
59m

AutoCAD SHX Text
A

AutoCAD SHX Text
65m

AutoCAD SHX Text
A

AutoCAD SHX Text
24m SLACK SPAN

AutoCAD SHX Text
50m

AutoCAD SHX Text
A

AutoCAD SHX Text
57m

AutoCAD SHX Text
A

AutoCAD SHX Text
42m

AutoCAD SHX Text
A

AutoCAD SHX Text
44m

AutoCAD SHX Text
A

AutoCAD SHX Text
40m

AutoCAD SHX Text
A

AutoCAD SHX Text
50m

AutoCAD SHX Text
A

AutoCAD SHX Text
46m

AutoCAD SHX Text
A

AutoCAD SHX Text
45m

AutoCAD SHX Text
5-28 EXISTING (1)	40' CLASS 3 POLE 40' CLASS 3 POLE (1)	OH TRANSFORMERS  OH TRANSFORMERS  (1) 	3PH TRANSFORMER BANK W/ CUTOUTS 3PH TRANSFORMER BANK W/ CUTOUTS (1)	SECONDARY CLEVIS SECONDARY CLEVIS (3)	O/H SECONDARY SERVICES O/H SECONDARY SERVICES (1) 	POLE GROUND POLE GROUND SALVAGE -	(1) 3PH TANGENT (1) 3PH TANGENT -	(1) NEUTRAL TANGENT (1) NEUTRAL TANGENT INSTALL NEW TANGENT AND STIRRUPS +	(1) 2700-2 3PH TANGENT 266 ACSR (1) 2700-2 3PH TANGENT 266 ACSR +	(3) 5531021 STIRRUPS (3) 5531021 STIRRUPS +	(1) 2660-4 NEUTRAL CLEVIS (TANGENT) (1) 2660-4 NEUTRAL CLEVIS (TANGENT) +	(1) SECONDARY CLEVIS (DE)(1) SECONDARY CLEVIS (DE)

AutoCAD SHX Text
X-XX EXISTING (1)	40' CLASS X POLE 40' CLASS X POLE (1)	3PH TANGENT 3PH TANGENT (1)	3PH DIP WITH CUTOUTS 3PH DIP WITH CUTOUTS (1)	NEUTRAL TANGENT NEUTRAL TANGENT (1)	POLE GROUND POLE GROUND INSTALL +	(1) 2660-4 SECONDARY CLEVIS (TANGENT)(1) 2660-4 SECONDARY CLEVIS (TANGENT)

AutoCAD SHX Text
5-29 EXISTING (1)	40' CLASS 4 POLE 40' CLASS 4 POLE (1)	STREET LIGHT STREET LIGHT (1)	SECONDARY CLEVIS SECONDARY CLEVIS (1)	O/H SECONDARY SERVICE O/H SECONDARY SERVICE (1) 	POLE GROUND POLE GROUND SALVAGE -	(1) 3PH TANGENT (1) 3PH TANGENT -	(1) NEUTRAL TANGENT (1) NEUTRAL TANGENT INSTALL NEW 3PH TANGENT AND SWITCHES +	(1) 2700-2 3PH TANGENT 266 ACSR (1) 2700-2 3PH TANGENT 266 ACSR +	(1) 2424-8 3PH SECTIONALIZING SWITCH STRUCTURE          (1) 2424-8 3PH SECTIONALIZING SWITCH STRUCTURE              W/ 900 A SWITCHES 266 ACSR +	(1) 2660-4 NEUTRAL CLEVIS (TANGENT)(1) 2660-4 NEUTRAL CLEVIS (TANGENT)

AutoCAD SHX Text
5-54 SALVAGE -	(1) 40' CLASS 4 POLE (1) 40' CLASS 4 POLE --	(1) 3PH DDE (1) 3PH DDE --	(1) 3PH CUTOUTS (1) 3PH CUTOUTS --	(1) NEUTRAL TANGENT (1) NEUTRAL TANGENT --	(1) POLE GROUND (1) POLE GROUND -	(1) PRIMARY GUY AND ANCHOR (SOUTH) (1) PRIMARY GUY AND ANCHOR (SOUTH) -	(1) COMMUNICATIONS GUY AND ANCHOR (SOUTH) (1) COMMUNICATIONS GUY AND ANCHOR (SOUTH) INSTALL 45'/2 - BUILD FOR 3PH CORNER +	(1) 5010452 45' CLASS 2 POLE (1) 5010452 45' CLASS 2 POLE +	(1) 2710-2 3PH CORNER 266 ACSR (1) 2710-2 3PH CORNER 266 ACSR +	(2) 2660-4 NEUTRAL CLEVIS (DE) (2) 2660-4 NEUTRAL CLEVIS (DE) +	(1) 2592-3 POLE GROUND (1) 2592-3 POLE GROUND +	(1) 2854-3 PRIMARY AND NEUTRAL DOUBLE DOWN HAUL GUY AND ANCHOR (Xm EAST) (1) 2854-3 PRIMARY AND NEUTRAL DOUBLE DOWN HAUL GUY AND ANCHOR (Xm EAST) +	(1) 2852-6 COMMUNICATIONS GUY AND ANCHOR (Xm EAST) (1) 2852-6 COMMUNICATIONS GUY AND ANCHOR (Xm EAST) COORDINATE WITH COMMUNICATIONS COMPANIES TO RELOCATE THEIR CABLES

AutoCAD SHX Text
5-53 EXISTING (1) 40' CLASS 2 POLE (1) 1 PH TRANSFORMER (1) SECONDARY GUY AND ANCHOR (NORTH) SALVAGE -	(1) 3PH TANGENT (1) 3PH TANGENT -	(1) NEUTRAL TANGENT  (1) NEUTRAL TANGENT  INSTALL NEW 3PH DDE +	(1) 2778-2 3PH DDE 266 ACSR (1) 2778-2 3PH DDE 266 ACSR +	(2) 2660-4 NEUTRAL CLEVIS (DE) (2) 2660-4 NEUTRAL CLEVIS (DE) +	(1) 2854-3 PRIMARY AND NEUTRAL DOUBLE DOWN HAUL GUY (1) 2854-3 PRIMARY AND NEUTRAL DOUBLE DOWN HAUL GUY     AND ANCHOR (Xm SW) +	(1) 2852-6 COMMUNICATIONS GUY AND ANCHOR (Xm SW)(1) 2852-6 COMMUNICATIONS GUY AND ANCHOR (Xm SW)

AutoCAD SHX Text
S.B.5 SALVAGE -	(1) SECONDARY CONDUCTOR FROM NEW SERVICE BOX TO EXISTING POLE 5-35 (1) SECONDARY CONDUCTOR FROM NEW SERVICE BOX TO EXISTING POLE 5-35 INSTALL NEW SERVICE BOX OVER EXISTING SECONDARY CONDUCTOR (1m EAST OF POLE 5-35)    +	(1) 1590-1 CONCRETE SERVICE BOX (1) 1590-1 CONCRETE SERVICE BOX +	(1) 1501-1 SECONDARY CABLE CONNECTORS (1) 1501-1 SECONDARY CABLE CONNECTORS +	(1) SECONDARY CONDUCTOR IN DUCT FROM NEW SERVICE BOX TO NEW POLE 5-35 (1) SECONDARY CONDUCTOR IN DUCT FROM NEW SERVICE BOX TO NEW POLE 5-35     (MATCH EXISTING CONDUCTOR AND DUCT) CONCRETE CAP SECONDARY DUCT 

AutoCAD SHX Text
S.B.5

AutoCAD SHX Text
X-XX EXISTING (1)	40' CLASS X POLE 40' CLASS X POLE (1)	3PH TANGENT 3PH TANGENT INSTALL - BUILD FOR 3PH TANGENT & 1PH TAP   +	(1) 2400-5 1PH TAP #2 ACSR W/ 100A LOADBREAK CUTOUT (REUSE PRIMARY AND NEUTRAL CONDUCTOR) (1) 2400-5 1PH TAP #2 ACSR W/ 100A LOADBREAK CUTOUT (REUSE PRIMARY AND NEUTRAL CONDUCTOR) (REUSE PRIMARY AND NEUTRAL CONDUCTOR) +	(1) 2660-4 NEUTRAL CLEVIS (TANGENT) (1) 2660-4 NEUTRAL CLEVIS (TANGENT) +	(1) 2592-3 POLE GROUND (1) 2592-3 POLE GROUND FUSING BY DISTRICT OF SUMMERLAND COORDINATE WITH COMMUNICATIONS COMPANIES TO RELOCATE THEIR CABLES

AutoCAD SHX Text
X-XX

AutoCAD SHX Text
5-30 EXISTING (1)	40' CLASS 2 POLE 40' CLASS 2 POLE (1)  3PH TRANSFORMER BANK W/ CUTOUTS (2)	O/H SECONDARY SERVICE O/H SECONDARY SERVICE (1)	STREET LIGHT STREET LIGHT (1) 	POLE GROUND POLE GROUND SALVAGE -	(1) 3PH TANGENT (1) 3PH TANGENT -	(1) NEUTRAL TANGENT (1) NEUTRAL TANGENT -	(1) SECONDARY CLEVIS (1) SECONDARY CLEVIS INSTALL NEW 3PH TANGENT +	(1) 2700-2 3PH TANGENT 266 ACSR (1) 2700-2 3PH TANGENT 266 ACSR +	(3) 5531021 STIRRUPS (3) 5531021 STIRRUPS +	(1) 2660-4 NEUTRAL CLEVIS (TANGENT) (1) 2660-4 NEUTRAL CLEVIS (TANGENT) +	(1) 2660-4 SECONDARY CLEVIS (DE)(1) 2660-4 SECONDARY CLEVIS (DE)

AutoCAD SHX Text
5-31 EXISTING (1) COMMUNICATIONS GUY AND ANCHOR (EAST) (1) COMMUNICATIONS GUY AND ANCHOR (SOUTH) SALVAGE -	(1) 40' CLASS 4 POLE (1) 40' CLASS 4 POLE --	(1) 3PH ANGLE (1) 3PH ANGLE --	(1) NEUTRAL TANGENT (1) NEUTRAL TANGENT INSTALL 40'/2 (1m EAST OF EXISTING POLE) - BUILD FOR 3PH ANGLE W/ O/H SPAN GUY +	(1) 5010402 40' CLASS 2 POLE (1) 5010402 40' CLASS 2 POLE +	(1) 2705-2 3PH LIGHT ANGLE 266 ACSR (1) 2705-2 3PH LIGHT ANGLE 266 ACSR +	(1) 2660-4 NEUTRAL (TANGENT) (1) 2660-4 NEUTRAL (TANGENT) +	(1) 2858-3 O/H GUY AND ANCHOR (13m SOUTH W/ 5m (1) 2858-3 O/H GUY AND ANCHOR (13m SOUTH W/ 5m ANCHOR LEAD LENGTH) COORDINATE WITH COMMUNICATIONS COMPANIES TO RELOCATE THEIR CABLES

AutoCAD SHX Text
X-XX INSTALL 30'/3 - BUILD FOR O/H SPAN GUY +	(1) 5010303 30' CLASS 3 POLE(1) 5010303 30' CLASS 3 POLE

AutoCAD SHX Text
X-XX

AutoCAD SHX Text
74m

AutoCAD SHX Text
43m

AutoCAD SHX Text
A

AutoCAD SHX Text
41m

AutoCAD SHX Text
5-21 EXISTING (1)	OH TRANSFORMER (TRANSFER TO NEW POLE) OH TRANSFORMER (TRANSFER TO NEW POLE) (TRANSFER TO NEW POLE) SALVAGE - (1) XX' CLASS Y POLE -- 	(1) 3PH DDE (1) 3PH DDE -- 	(2) NEUTRAL CLEVIS (2) NEUTRAL CLEVIS -- 	(2) SECONDARY CLEVIS (2) SECONDARY CLEVIS - (1) 1PH TRANSFORMER BANK W/ CUTOUTS - (1) GUY AND ANCHOR INSTALL NEW 50'/2 POLE (2m EAST OF EDGE OF ROAD) - BUILD FOR 3PH DDE WITH 1PH TRANSFORMER, TRANSFER TRANSFORMER, INSTALL NEW PRIMARY #2 ACSR SOUTH AND SPLICE #2 ACSR NORTH + (1) 5010502 50' CLASS 2 POLE (SET 10' DEEP) + (1) 2778-1 3PH DDE #2 ACSR + (1) 2523-3 1PH TRANSFORMER FRAMING (TRANSFER TRANSFORMER) + (2) 2660-4 NEUTRAL CLEVIS (DE) + (2) 2660-4 SECONDARY CLEVIS (DE) + (2) TRANSFER O/H TRIPLEX SERVICE + (1) 2858-3 O/H GUY AND ANCHOR (WEST) + (1) 2592-3 POLE GROUND EXISTING POLE IS MARKED FOR STUBBING AND IS NOT CLIMBABLE FUSING BY DISTRICT OF SUMMERLAND COORDINATE WITH COMMUNICATIONS COMPANIES TO RELOCATE THEIR CABLES

AutoCAD SHX Text
B

AutoCAD SHX Text
5-21

AutoCAD SHX Text
A

AutoCAD SHX Text
3m

AutoCAD SHX Text
X-XX EXISTING (1)	XX' CLASS Y TELUS POLE XX' CLASS Y TELUS POLE INSTALL NEW 40'/3 POLE (IMMEDIATELY WEST OF EXISTING TELUS POLE) - BUILD FOR 1PH TANGENT +	(1) 2100-3 SKYPIN WITH INSULATOR  (1) 2100-3 SKYPIN WITH INSULATOR  +	(1) 2660-4 NEUTRAL CLEVIS (TANGENT)(1) 2660-4 NEUTRAL CLEVIS (TANGENT)

AutoCAD SHX Text
20

AutoCAD SHX Text
( 1:1000 IN METRES )

AutoCAD SHX Text
80

AutoCAD SHX Text
40

AutoCAD SHX Text
20

AutoCAD SHX Text
0

AutoCAD SHX Text
40

AutoCAD SHX Text
DO NOT USE FOR CONSTRUCTION

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
GENERAL NOTES

AutoCAD SHX Text
N

AutoCAD SHX Text
LEGEND

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
J.SPRING

AutoCAD SHX Text
27MAY16

AutoCAD SHX Text
UPDATED STRUCTURES

AutoCAD SHX Text
0.D

AutoCAD SHX Text
J.SPRING

AutoCAD SHX Text
2JUNE16

AutoCAD SHX Text
ADDED SWITCHES

AutoCAD SHX Text
0.E

AutoCAD SHX Text
J.SPRING

AutoCAD SHX Text
10JUNE16

AutoCAD SHX Text
ISSUED FOR TENDER

AutoCAD SHX Text
0.F

AutoCAD SHX Text
J.SPRING

AutoCAD SHX Text
7JULY16

AutoCAD SHX Text
REVISED EXTENTS

AutoCAD SHX Text
0.G







  Fortis                    B i l l  o f  M a t e r i a l              

  Structure # 1324         THREE PHASE RISER FOR 350  – 750MCM 

  Item # UI   -1  -2  -3  -4 Description 

  4910304     1     1     1     1   SIGN,  ALUMINUM, DANGER, 16 X 9 CM 

  4947054      3    3    3    3  TAG HOLDER, FOR U/G CABLE IDENTIFICATION  
  4947067      3    3    3    3  TAG HOLDER, 3", AL, HORIZONTAL SLOTS  
  4947069      1    1    1    1  TAG HOLDER, AL, VERT. BANDING SLOTS 10"  
  5020207      1    1    1    1  CROSSARM, WOOD, SAWN OR GLULAM WOOD 
  5020304      1     1   CROSSARM, WOOD, SAWN OR GLULAM WOOD 
  5110252      4    2    4    2  BRACE, FLAT, 34" LONG  
  5132606      2    1    2    1  BOLT, MACHINE, GALV, 3/4" X 6"  
  5132614      1    1    1    1  BOLT, MACHINE, GALV, 3/4" X 14  
  5132616      1     1   BOLT, MACHINE, GALV, 3/4" X 16"  
  5138401      6    5    6    5  BOLT, LAG, GALVANIZED, 1/2" X 4"  
  5142206      4    2    4    2  WASHER, SQ, 3 X 3 X 1/4,  13/16 HOLE  
  5142304      6    4    6    4  WASHER, CURVED, 4X4X3/8, 13/16 HOLE.  
  5142502      3    3    3    3  WASHER, SINGLE HELIX SPRING LOCK, 1/2"  
  5142603      8    6    8    6  WASHER, SPRING LOCK, DOUBLE 3/4  
  5150231      3    3    3    3  BRACKET, CABLE SUPPORT, DIA. .75" -  2.0"  
  5151009      3    3    3    3  INDICATOR, OVER HEAD CONDUCTOR FAULT 
  5310204  M      7   10  WIRE, CU STR, 4/0, BARE, SOFT DRAWN  
  5310205  M    7   10    WIRE, CU STR, 500MCM, BARE, SOFT DRAWN  
  5310440  M    6    6    6    6  WIRE, 4 AWG, 7STR, 600V, TWU GREEN  
  5311105  M    2    2    2    2  CONDUCTOR,CU STR, #4 POLY,600V,RW90  
  5390603  M    5    5    5    5  CABLE- #2 WELDING- COPPER- 672W STR. - 600V.  
  5530130      5    5    5    5  CONNECTOR, COMPRESSION, AL, H- TYPE 
  5530133      3    3    3    3  CONNECTOR, COMPRESSION, AL, H- TYPE 
  5530502        3    3  CLAMP, HOT LINE, 336.4 MCM : #6 ACSR  
  5530505      3    3    CLAMP, HOT LINE, 266.8 TO #6 ACSR  
  5532241        3    3  LUG,COMPRESSION TERMINAL,#500MCM,2 HOLE 
  5532243      3      3    CONN COMP TERM LUG,750AL,2HOLE PAD 1/2"  
  5532245        CONN COMP TERM LUG,350AL,2HOLE PAD1/2"  
  5532411        9    9  CONNECTOR,TERMINAL,2/0- 4/0 TO PAD,BOLTED  
  5532412      9    9    CONNECTOR, TERMINAL, 350 MCM- 500MCM PAD 
  5590502     15   15   15   15  TIE, CABLE WRAP, BLACK, 7"  
  5740143        TERM,COLD SHRINK, 15/25KV, 350 MCM  
  5740145        3    3    3    3  TERM,COLD SHRINK, 15/25KV, 500 -  800 MCM 
  5790415      3    3    3    3  PROTECTOR, WILDLIFE, L.A. BRACKET  
  5810112      3    3    3    3  ARRESTER, LIGHTNING, 18KV  
  5810122         
  5821038      3     3   SWITCH,DISCONNECT,27kV,900AMP,125KV BIL  
  5890417      3    3    3    3  BRACKET,CROSSARM MOUNTING L.A. & CUTOUT 
  5890450      4    4    4    4  BRACKET, ALUMINUM, STANDOFF 
  5890456      4    4    4    4  BRACKET, T SLOT,  4 WAY, 24 INCHES LONG  
  6311110     12   12   12   12  STRAP, KIT, GALV, FOR 4"  
  6323051      9    9    9    9  PIPE, RIGID PVC, 10' 4" 4.026" ID  
  6323454      3    3    3    3  END BELLS, FOR 4" RIGID PVC, GREY  
 

TCooke
Line

TCooke
Text Box
XXXXXXX           3       3       3       3    ARRESTER, LIGHTNING, 6KV (5.1KV MCOV)

TCooke
Text Box
ADJUST AS REQUIRED FOR 266 ACSR PRIMARY AND 1/0 ACSR NEUTRAL

TCooke
Text Box
XXXXXXX           1       1       1       1    CROSSARM 3 3/4" x 4 3/4" x 8'

TCooke
Line

TCooke
Line

jspring
Text Box
XXXXXXX           1                1             CROSSARM 4 3/4" x 5 3/4" x 8'

TCooke
Line



TCooke
Text Box
XXXXXXX           3       3       3       3      3    ARRESTER, LIGHTNING, 6KV (5.1KV MCOV)

TCooke
Text Box
ADJUST AS REQUIRED FOR 266 ACSR PRIMARY AND 1/0 ACSR NEUTRAL

TCooke
Snapshot

TCooke
Snapshot

TCooke
Snapshot

TCooke
Text Box
MOD

TCooke
Pen

TCooke
Line

TCooke
Text Box
5890417           0       0       0       0      6    BRACKET, CROSSARM MOUNTING L.A. & CUTOUT

TCooke
Line

TCooke
Line

TCooke
Line

TCooke
Text Box
5821049           0       0       0       0      3    SWITCH, 15/26Y KV, 200 AMP, 125 KV BIL

TCooke
Text Box
XXXXXXX           1       1       0       1      1    CROSSARM 3 3/4" x 4 3/4" x 8'

TCooke
Line

TCooke
Text Box
XXXXXXX           1       0       1       0      1    CROSSARM 3 3/4" x 4 3/4" x 8'

TCooke
Line





DATEBY DESCRIPTIONREV DATE



DATEBY DESCRIPTIONREV DATE



DATEBY DESCRIPTIONREV DATE



TCooke
Text Box
ADJUST AS REQUIRED FOR 1/0 ACSR NEUTRAL

TCooke
Line

TCooke
Text Box
XXXXXXX                1

TCooke
Text Box
STRAIGHT SUMMERLAND-SPEC STREET LIGHT BRACKET





  Fortis                    B i l l  o f  M a t e r i a l             2007/05/24 

  Structure # 1469             HPS LUM. COBRA HEAD, FLAT GLASS                   

  Item #   UI  -1   -2   -3  -4  -5  -6                      Description     

  6410306        1         1        1      CONTROL, PHOTO, STREETLIGHT, 1800 VA
  6410410             1        1        1  SHORTING CAP, FOR NEMA STD 3 PRONG,T
  6422602        1    1                  LUMINAIRE, 70W, 120V, HPS, FLAT GLAS
  6422607                  1    1          LUMINAIRE, 200W, 120V, HPS, FLAT GLA
  6422608                          1    1  LUMINAIRE, 250W, 120V, HPS, FLAT GLA
  6430401                          1    1  LAMP, HPS, 250W, MOGUL BASE,5 3/4"LC
  6430407        1    1                  LAMP, HPS, 70W, MOGUL BASE,5"LC, CLE
  6430424                  1    1          LAMP, 200W. 100 VOLT, H.P.S         

 
Note:                                                                      
The next combinations are available:                
                                                                              
 1469-1 70 W luminaire with photocontrol                                   
 1469-2 70 W luminaire without photocontrol and with shorting cap   
 1469-3 200 W luminaire with photocontrol                                  
 1469-4 200 W luminaire without photocontrol and with shorting cap    
 1469-5 250 W luminaire with photocontrol                                  
 1469-6 250 W luminaire without photocontrol and with shorting cap      

 
 

TCooke
Line

TCooke
Text Box
XXXXXXX                1                                                           LUMINAIRE, 150W, 120V, HPS, FLAT GLASS
XXXXXXX                1                                                           LAMP, HPS, 150W

TCooke
Line

TCooke
Text Box
-1MOD

TCooke
Text Box
1469-1MOD

TCooke
Text Box
150 W













  Fortis                    B i l l  o f  M a t e r i a l              

  Structure # 1590                CONCRETE SERVICE BOX 

  Item # UI  -1 Description 

 5571308  1 ROD, GROUND, COPPERBONDED, PLAIN 3/4"ROD 

 7550501  1 VAULT, CONCRETE , SERVICE BOX 

 

REMARKS: 

1. For use with structure 1501 



TCooke
Line

TCooke
Text Box
2750



  Fortis                    B i l l  o f  M a t e r i a l             2010/02/23 

  Structure # 2100             1 PHASE PRIMARY TANGENT 

  Item # UI  -3                                               Description 

  5110135     1  PIN, POLE TOP, 24", 1" THREAD 
  5132612     2  BOLT, MACHINE, GALV, 3/4" X 12", 
  5142206     2  WASHER, SQ, 3 X 3 X 1/4,  13/16 HOLE 
  5142603     2  WASHER, SPRING LOCK, DOUBLE 3/4 
  5561306 SE    1  TIES, PRFD, DIST, BARE  #2 SPARROW, 
  5710404     1  INSULATOR, 14.4/25kV,PIN TYPE, ANSI 55-5 

 



jspring
Text Box
2750

jspring
Text Box
2900

jspring
Line

jspring
Line



TCooke
Text Box
BCH# 420-1521       1         1         1    SQUARE WASHER (50mm x 50mm)
BCH# 420-1009       1         1         1    EXTENSION STRAP (125mm)
BCH# 413-0130       1         1         1    DEAD END CLEVIS
BCH# 100-XXXX     1         1         1     MACHINE BOLT (5/8" x LENGTH)

TCooke
Line



TCooke
Line

TCooke
Text Box
3050

TCooke
Line

TCooke
Text Box
3200



  Fortis                    B i l l  o f  M a t e r i a l             2010/03/10 

  Structure # 2414             3 PHASE PRI TAP ON MAIN LINE 

  Item # UI  -3  -5                                          Description 

  5020304     1   CROSSARM, WOOD, SAWN OR GLULAM WOOD 
  5020506      1  CROSSARM, WOOD, 5 3/4" X 7"X 9' 
  5110102     1    1  PIN, 6" TOP, 3/4 X 6.5" SHK, 1" PIN 
  5110269     1    1  BRACE, V, 60" 
  5132608     2    2  BOLT, MACHINE, GALV, 3/4" X 8", 
  5132614     1    1  BOLT, MACHINE, GALV, 3/4" X 14", 
  5135608     2   BOLT, SHOULDER EYE, 3/4 X 8" 
  5135610      2  BOLT, SHOULDER EYE, 3/4 X 10" 
  5135616     1   BOLT, SHOULDER EYE, 3/4 X 16" 
  5135618      1  BOLT, SHOULDER EYE,  3/4 X 18" 
  5142206     8    8  WASHER, SQ, 3 X 3 X 1/4,  13/16 HOLE 
  5142603     8    8  WASHER, SPRING LOCK, DOUBLE 3/4 
  5310100 M    1    1  WIRE, CU SOL, #8, BARE, SOFT DRAWN 
  5310202 M     6  WIRE, CU STR, 2/0, BARE, SOFT DRAWN, 
  5310220 M    6   WIRE, CU STR, #4, BARE, SOFT DRAWN, 
  5530131     3   CONNECTOR, COMPRESSION, AL, H-TYPE 
  5530136      3  CONNECTOR, COMPRESSION, AL, H-TYPE 
  5530502     3    3  CLAMP, HOT LINE, 336.4 MCM : #6 ACSR 
  5531021     3   CLAMP, STIRRUP, 6-2/0 ACSR 
  5531022      3  CLAMP, STIRRUP, 2/0-397 
  5571652     3   CLAMP,CLEVIS D.E, #6 - 2/0 ACSR, 
  5571653      3  CLAMP,CLEVIS D.E, #4 - 336.4 ACSR, 
  5710404     1    1  INSULATOR, 14.4/25kV,PIN TYPE, ANSI 55-5 
  5720402     3    3  INSULATOR, POLYMER, D.E, CLEVIS END, 

   
 
REMARKS: 
1. 2414-3 is for #2 ACSR SB  
2. 2414-5 is for #3/0 ACSR pigeon 

 

TCooke
Line

TCooke
Line

TCooke
Text Box
XXXXXXX                1                  CROSSARM 4 3/4" x 5 3/4" x 8'

TCooke
Text Box
ADJUST AS REQUIRED FOR 266 ACSR PRIMARY AND 1/0 ACSR NEUTRAL

jspring
Text Box
XXXXXXX                           1       CROSSARM 5 3/4" x 7" x 8'

TCooke
Line

TCooke
Line

TCooke
Text Box
5110102                  2          2       PIN, 6" TOP, 3/4 x 6.5" SHK, 1" PIN

TCooke
Text Box
5710404                  2          2       INSULATOR, 14.4/25kV, PIN TYPE, ANSI 55-5

TCooke
Line

TCooke
Line

TCooke
Line

TCooke
Line

TCooke
Text Box
BCH# 420-1521       3         3       SQUARE WASHER (50mm x 50mm)
BCH# 420-1009       3         3       EXTENSION STRAP (125mm)
BCH# 413-0130       3         3       DEAD END CLEVIS
BCH# 100-XXXX      3         3       MACHINE BOLT (5/8" x LENGTH)



TCooke
Line

TCooke
Text Box
2750



TCooke
Line

TCooke
Text Box
2750



TCooke
Text Box
ADJUST AS REQUIRED FOR 266 ACSR PRIMARY AND 1/0 ACSR NEUTRAL

TCooke
Text Box
XXXXXXX                1         1         1         1         1         1         1         1    CROSSARM 3 3/4" x 4 3/4" x 8'

TCooke
Line





jspring
Line

jspring
Text Box
FIELD FIT

jspring
Line

jspring
Text Box
FIELD FIT

jspring
Line

jspring
Text Box
2750

jspring
Line

jspring
Text Box
2950

jspring
Line

jspring
Text Box
FIELD FIT

jspring
Line

jspring
Text Box
FIELD FIT



NOTE: NO LIGHTNING ARRESTER REQUIRED





X2

X1

H2

jspring
Line

jspring
Text Box
FIELD FIT

jspring
Line

jspring
Text Box
FIELD FIT

jspring
Line

jspring
Text Box
2750

jspring
Line

jspring
Text Box
2950

jspring
Line

jspring
Text Box
FIELD FIT

jspring
Line

jspring
Text Box
FIELD FIT

jspring
Line

jspring
Text Box
2440



X2

X1

H2

jspring
Line

jspring
Text Box
FIELD FIT

jspring
Line

jspring
Text Box
FIELD FIT

jspring
Line

jspring
Text Box
2750

jspring
Line

jspring
Text Box
2950

jspring
Line

jspring
Text Box
FIELD FIT

jspring
Line

jspring
Text Box
FIELD FIT

jspring
Line

jspring
Text Box
2440



X2

X2

X2

X2

H2

X2

X2



TCooke
Text Box
NOTE: NO LIGHTNING ARRESTER REQUIRED

TCooke
Line

TCooke
Line

TCooke
Line

TCooke
Text Box
XXXXXXX             1       1        1       1    CROSSARM 3 3/4" x 4 3/4" x 8'

TCooke
Text Box
ADJUST AS REQUIRED FOR 266 ACSR PRIMARY AND 1/0 ACSR NEUTRAL









TCooke
Line

TCooke
Line

TCooke
Text Box
ADJUST AS REQUIRED FOR 1/0 ACSR NEUTRAL





TCooke
Text Box
ADJUST AS REQUIRED FOR 1/0 ACSR NEUTRAL



TCooke
Line

TCooke
Text Box
2750



TCooke
Text Box
ADJUST AS REQUIRED FOR 266 ACSR PRIMARY AND 1/0 ACSR NEUTRAL

TCooke
Line

TCooke
Text Box
XXXXXXX                1         1         1     CROSSARM 3 3/4" x 4 3/4" x 8'



TCooke
Line

TCooke
Text Box
2750



  Fortis                    B i l l  o f  M a t e r i a l             2008/08/21 

  Structure # 2705             25 KV THREE PHASE PRIMARY ANGLE STR               

  Item #   UI  -1   -2   -3                Description      

  5020207        1    1    1  CROSSARM, WOOD, 3 3/4" X 4 3/4" X 9'.              
  5110003        2    2    2  PIN, CROSSARM, ANGLE, 1" LEAD THREAD               
  5110142        1    1    1  PIN, POLE TOP, ANGLE, 1" LEAD TREAD PIN            
  5110269        1    1    1  BRACE, V, 60"                                      
  5132608        2    2    2  BOLT, MACHINE, 3/4 X 8 INCH                        
  5132612        2    2    2  BOLT, MACHINE, 3/4 X 12 INCH                       
  5132614        2    2    2  BOLT, MACHINE, 3/4 X 14 INCH                       
  5132616        1    1    1  BOLT, MACHINE, 3/4 X 16 INCH                       
  5141106        2    2    2  NUT, UNFIN SQ, GLV 3/4                             
  5142106        1    1    1  WASHER, ROUND, 13/16" HOLE, 2" RIM                 
  5142206        9    9    9  WASHER, SQ, 3 X 3 X 1/4,  13/16 HOLE               
  5142603        8    8    8  WASHER, SPRING LOCK, DOUBLE 3/4                    
  5561306  SE    3           TIES, PREFORMED, DISTRIBUTION #2                   
  5561314  SE         3      TIES, PREFORMED, DISTRIBUTION # 110                
  5561389                  3  TIES, PRFD. DIST. COND. BARE 477 PELICAN           
  5710404        3    3    3  INSULATOR, 14.4/25kV,PIN TYPE, ANSI 55-5           

                                                                                  
 
REMARKS:                                                                          
1) Intended uses:                                                      
2705-1 is for #2 ASCR                                                   
2705-2 is for 3/0 ASCR                                                   
2705-3 is for 477 ASCR                                                   
2) For grounding use s2592                                               
3) For neutral material use 2660                                           
4) Designer to check for aeolian vibration for spans more than 100 m               
 

TCooke
Text Box
ADJUST AS REQUIRED FOR 266 ACSR PRIMARY AND 1/0 ACSR NEUTRAL

TCooke
Text Box
XXXXXXX                1         1         1     CROSSARM 3 3/4" x 4 3/4" x 8'

TCooke
Line



TCooke
Line

TCooke
Text Box
2750



  Fortis                    B i l l  o f  M a t e r i a l             2008/08/21 

  Structure # 2707             25 KV THREE PHASE PRIM MEDIUM ANGLE ST            

  Item #   UI  -2   -3                  Description      

  5020207        2    2  CROSSARM, WOOD, 3 3/4" X 4 3/4" X 9'.                   
  5110003        6    6  PIN, CROSSARM, ANGLE, 1" LEAD THREAD                    
  5110269        2    2  BRACE, V, 60"                                           
  5110913        2    2  GAIN, POLE, 4" X 6" X 13/16" HOLE, GLV.                 
  5132608        4    4  BOLT, MACHINE, 3/4 X 8 INCH                             
  5132612        2    2  BOLT, MACHINE, 3/4 X 12 INCH                            
  5132614        1    1  BOLT, MACHINE, 3/4 X 14 INCH                            
  5133624        3    3  BOLT, D.A. 3/4"X 24"                                    
  5142206       20   20  WASHER, SQ, 3 X 3 X 1/4,  13/16 HOLE                    
  5142603       19   19  WASHER, SPRING LOCK, DOUBLE 3/4                         
  5561395             3  DOUBLE TIE PRFD. DIST. BARE 477 PELICAN                 
  5561396        3       DOUBLE TIE PRFD. DIST. BARE 3/0 PIGEON                  
  5710404        6    6  INSULATOR, 14.4/25kV,PIN TYPE, ANSI 55-5                

                                                                                  
 
REMARKS:                                                                          
1) Intended uses                                                                  
2707-2 is for 3/0 Pigeon                                                          
2707-3 is for 477 Pelican                                                         
2) for grounding use s2592                                                        
3) for neutral use s2660                                                          
 

TCooke
Line

TCooke
Text Box
XXXXXXX                 2         2    CROSSARM 3 3/4" x 4 3/4" x 8'

jspring
Text Box
ADJUST AS REQUIRED FOR 266 ACSR PRIMARY AND 1/0 ACSR NEUTRAL



TCooke
Line

TCooke
Text Box
2750



TCooke
Line

TCooke
Text Box
2750



TCooke
Line

TCooke
Text Box
XXXXXXX             1        2        2     CROSSARM 4 3/4" x 5 3/4" x 8'

TCooke
Text Box
ADJUST AS REQUIRED FOR 266 ACSR PRIMARY AND 1/0 ACSR NEUTRAL

TCooke
Line

TCooke
Line

TCooke
Line

TCooke
Text Box
BCH# 420-1521       3        1        1    SQUARE WASHER (50mm x 50mm)
BCH# 420-1009       3        1        1    EXTENSION STRAP (125mm)
BCH# 413-0130       3        1        1    DEAD END CLEVIS
BCH# 100-XXXX      3        1        1     MACHINE BOLT (5/8" x LENGTH)



TCooke
Line

TCooke
Text Box
2900

TCooke
Line

TCooke
Text Box
3050



TCooke
Line

TCooke
Text Box
2900

TCooke
Line

TCooke
Text Box
3050



TCooke
Line

TCooke
Text Box
XXXXXXX              2        4       4     CROSSARM 4 3/4" x 5 3/4" x 8'

TCooke
Text Box
ADJUST AS REQUIRED FOR 266 ACSR PRIMARY AND 1/0 ACSR NEUTRAL

TCooke
Line

TCooke
Line

TCooke
Line

TCooke
Line

TCooke
Text Box
BCH# 420-1521        8         2         2    SQUARE WASHER (50mm x 50mm)
BCH# 420-1009        8         2         2    EXTENSION STRAP (125mm)
BCH# 413-0130        8         2         2    DEAD END CLEVIS
BCH# 100-XXXX       8         2         2     MACHINE BOLT (5/8" x LENGTH)



TCooke
Line

TCooke
Text Box
2750



TCooke
Line

TCooke
Text Box
2750



TCooke
Line

TCooke
Text Box
XXXXXXX              1       2       2     CROSSARM 4 3/4" x 5 3/4" x 8'

TCooke
Text Box
ADJUST AS REQUIRED FOR 266 ACSR PRIMARY AND 1/0 ACSR NEUTRAL

TCooke
Line

TCooke
Line

TCooke
Text Box
BCH# 420-1521       3         0         0    SQUARE WASHER (50mm x 50mm)
BCH# 420-1009       3         0         0    EXTENSION STRAP (125mm)
BCH# 413-0130       3         0         0    DEAD END CLEVIS
BCH# 100-XXXX      3         0         0     MACHINE BOLT (5/8" x LENGTH)



TCooke
Text Box
ATTACH PUSHBRACE 300mm BELOW NEUTRAL



  Fortis                    B i l l  o f  M a t e r i a l             2010/08/05 

  Structure # 2820             PUSH BRACE 

  Item # UI  -1 Description 

  5132612     2  BOLT, MACHINE, GALV, 3/4" X 12", 
  5142206     2  WASHER, SQ, 3 X 3 X 1/4,  13/16 HOLE 
  5142603     2  WASHER, SPRING LOCK, DOUBLE 3/4 
  5172251     1  BRACKET, PUSH BRACE, REGULAR DUTY 

 





  Fortis                    B i l l  o f  M a t e r i a l             2010/12/07 

  Structure # 2852             SINGLE DOWNHAUL GUY & ANCHOR 

  Item # UI  -3  -6  -7  -8  -9 Description 

  5132612     2    2    2    2    2  BOLT, MACHINE, GALV, 3/4" X 12", 
  5142206     2    2    2 WASHER, SQ, 3 X 3 X 1/4,  13/16 HOLE
  5142304       2   2 WASHER, CURVED, 4X4X3/8, 13/16 HOLE.
  5142603     2    2    2   2   2 WASHER, SPRING LOCK, DOUBLE 3/4
  5170302      1    1 ANCHOR, XPLATE, 400 SQ IN 
  5170511       1 ANCHOR, SCREW, 10" SGL HELIX ONLY
  5170513     1   ANCHOR, 10" SINGLE HELIX, 10,000 FT. LBS
  5170515       1 ANCHOR,TRIPLE HELIX, 1.5"Sq.,10",12",14"
  5171106     1     1 ROD, EXT FOR PISA, 1" X 7' 
  5171109       1 ROD, EXT FOR 517-0515 1.5" x 1.5" x 7'
  5171112      1    1 ROD, ANCHOR, 1"x10ft. FORGED TRIPLE EYE
  5171206     1     1 NUT, TWIN EYE, GLV, FOR 3/4" OR 1" ROD
  5171208       1 NUT, TRIPLEEYE, ACHR TERMINATOR
  5172605     1    1    1 HOOK, GUY, COMBINATION 
  5172606       1   1 GUYING TEE, DOUBLE
  5173052     1    1    1   1   1 GUARD, GUY, 7', ORANGE, POLYETHEYLENE
  5380107 M   16   16   32  16  32 WIRE, GUY 7/16, 7 WIRE STEEL STRAND
  5560107     2    2    4   2   4 GRIP,PRFD DE, FOR 7/16'"GUY, 40" GREEN,
  5790609     1    1    2   1   2 GUY STRAIN INSULATOR, 78" LONG

 





  Fortis                    B i l l  o f  M a t e r i a l             2010/11/26 

  Structure # 2854             DOUBLE DOWNHAUL GUY & ANCHOR 

  Item # UI  -2  -3  -6  -9 Description 

  5132612     4    4    4    4  BOLT, MACHINE, GALV, 3/4" X 12", 
  5142206     4    4    4   4 WASHER, SQ, 3 X 3 X 1/4,  13/16 HOLE
  5142603     4    4    4   4 WASHER, SPRING LOCK, DOUBLE 3/4 
  5170302      1  ANCHOR, XPLATE, 400 SQ IN 
  5170512       1 ANCHOR, SCREW, 10" DBL HELIX ONLY 
  5170513     1   ANCHOR, 10" SINGLE HELIX, 10,000 FT. LBS
  5170515       1 ANCHOR,TRIPLE HELIX, 1.5"Sq.,10",12",14"
  5171106     1     1 ROD, EXT FOR PISA, 1" X 7' 
  5171109       1 ROD, EXT FOR 517-0515 1.5" x 1.5" x 7'
  5171112      1  ROD, ANCHOR, 1"x10ft. FORGED TRIPLE EYE
  5171206     1     1 NUT, TWIN EYE, GLV, FOR 3/4" OR 1" ROD
  5171208       1 NUT, TRIPLEEYE, ACHR TERMINATOR 
  5172605     2    2    2   2 HOOK, GUY, COMBINATION
  5173052     1    1    1   1 GUARD, GUY, 7', ORANGE, POLYETHEYLENE
  5380107 M   32   32   32  32 WIRE, GUY 7/16, 7 WIRE STEEL STRAND
  5560107     4    4    4   4 GRIP,PRFD DE, FOR 7/16'"GUY, 40" GREEN,
  5790609     2    2    2   2 GUY STRAIN INSULATOR, 78" LONG 

 





  Fortis                    B i l l  o f  M a t e r i a l             2010/11/26 

  Structure # 2858             SINGLE OVERHEAD GUY & ANCHOR 

  Item # UI  -2  -3  -6 Description 

  5132612     4    4    4  BOLT, MACHINE, GALV, 3/4" X 12", 
  5142206     2    2    2 WASHER, SQ, 3 X 3 X 1/4,  13/16 HOLE 
  5142603     4    4    4 WASHER, SPRING LOCK, DOUBLE 3/4 
  5170302      1  ANCHOR, XPLATE, 400 SQ IN
  5170512       1 ANCHOR, SCREW, 10" DBL HELIX ONLY 
  5170513     1   ANCHOR, 10" SINGLE HELIX, 10,000 FT. LBS
  5171106     1     1 ROD, EXT FOR PISA, 1" X 7'
  5171112      1  ROD, ANCHOR, 1"x10ft. FORGED TRIPLE EYE 
  5171206     1     1 NUT, TWIN EYE, GLV, FOR 3/4" OR 1" ROD 
  5172605     3    3    3 HOOK, GUY, COMBINATION
  5173052     1    1    1 GUARD, GUY, 7', ORANGE, POLYETHEYLENE 
  5380107 M   38   38   38 WIRE, GUY 7/16, 7 WIRE STEEL STRAND 
  5560107     4    4    4 GRIP,PRFD DE, FOR 7/16'"GUY, 40" GREEN, 
  5790609     2    2    2 GUY STRAIN INSULATOR, 78" LONG 

 





TCooke
Callout
CONCRETE INSIDE OF BENDS ONLY




	1324
	1324S1.pdf
	1324S2.pdf
	1324BOMs1.pdf
	1324BOMs2.pdf
	1324BOMs3.pdf

	1440
	1469
	Page 2

	1500
	1501
	1590
	2100
	2400
	2414
	2424
	2523
	2523s1.pdf
	2523BOMs1.pdf
	2523BOMs2.pdf

	2525
	2525s1.pdf
	2525s2.pdf
	2525s3.pdf
	2525BOMs1.pdf
	2525BOMs3.pdf

	2592
	2592s1.pdf
	2592s2.pdf
	2592BOMs1.pdf

	2660
	2700
	2705
	2707
	2709
	2710
	2778
	2820
	2852
	2854
	2858
	Bentley Road Design Drawings 2016-07-06
	Sheets and Views
	Bentley Road Design Drawings 2016-07-06-HR-2203-F1
	Bentley Road Design Drawings 2016-07-06-HR-2203-F2
	Bentley Road Design Drawings 2016-07-06-HR-2203-F3


	ES53_M1
	ES54_M1
	Bentley Road Design Drawings 2016-07-06.pdf
	Sheets and Views
	Bentley Road Design Drawings 2016-07-06-HR-2203-F1
	Bentley Road Design Drawings 2016-07-06-HR-2203-F2
	Bentley Road Design Drawings 2016-07-06-HR-2203-F3





